Service Parts Catalog @ Contents

BLUE BIRD

PageSet ¥

380 Seats
DRIVER'S SEAT
BOSTROM ROUTEMASTER
WITH ARMREST

With: OPTION 2824 / STD C3FE, CSFE, CSRE, A3FE, A3RE, WITH OPTION 2831

DRIVER'S SEAT BELT
DRIVER'S 3-POINT WITH ADJUSTABLE PILLAR LOOP

With: OPTION 2836

RETRACTABLE TO SEAT LEVEL

With: OPTION 2828




Service Parts Catalog 380 Seats
’

Models: | A3FE, A3RE, BBCV, C3FE, CSFE, CSRE, GMCV, MBWB, SBCV, T2RE, TCFE, TCRE, TSFE
DRIVER'S SEAT

BOSTROM ROUTEMASTER

WITH ARMREST

With: | OPTION 2824 / STD C3FE, CSFE, CSRE, A3FE, A3RE, WITH OPTION 2831

L 4
Key PartNumber Qty Description Comment

0030103

- PAGE 21—

To order, contact your Blue Bird Authorized Dealer

PageSet Number —



Service Parts Catalog 380 Seats

L Page Set PS0004689

Models: | A3FE, A3RE, BBCV, C3FE, CSFE, CSRE, GMCV, MBWB, SBCV, T2RE, TCFE, TCRE, TSFE
DRIVER'S SEAT

BOSTROM ROUTEMASTER

WITH ARMREST

With: | OPTION 2824 / STD C3FE, CSFE, CSRE, A3FE, A3RE, WITH OPTION 2831

Key ‘PartNumber Qty Description Comment
BOSTROM ROUTEMASTER OPT 2824
1 SEAT ASSY., BROWN VINYL
1697366 SEAT,DR,BOSTROM,ROUTEMASTER BROWN ENDING WITH BSN B0258340,

F0190468, L0020617, M076447,
X000073 3-24-96

4324208 COVER ASSY,CUSH,BOST,OPT 2824&5,BRN VYL"

4324224 COVER ASSY,HI-BK,BOST,OPT 2824&5&7,BRN

1903582 SEAT,DR,BOSTROM ROUTEMASTER,BROWN FROM BSN B0258341, FO190469,
L0020618, MO76448, X000074 3
-25-96

(TO BSN B10038199, F10021794,
L10035429, M10044779,
X10010354) 1-2-00

4324208 COVER ASSY,CUSH,BOST,OPT 2824&5,BRN VYL"
4324224 COVER ASSY,HI-BK,BOST,OPT 2824&5&7,BRN
0017449 SEAT,DR,BOSTROM ROUTEMASTER,BROWN BEGIN WITH BSN B10038200,

F10021795, L10035430,
M10044780, X1001355

4324208 COVER ASSY,CUSH,BOST,OPT 2824&5,BRN VYL"
4324224 COVER ASSY,HI-BK,BOST,OPT 2824&5&7,BRN
0038681 SEAT,DRV,BOSTROM ROUTEMASTER,BROWN BEGIN WITH BSN 7/9/01
0059763 SEAT,DRV,BOSTROM RTMSTR,BROWN VNL, BBCV ONLY
1 SEAT ASSY, BROWN VINYL, FIRE
1697374 SEAT,DR,BOSTROM,ROUTEMASTER,BRN VNL, ENDING WITH BSN B0258340,

F0190468, L0020617, M076447,
X000073 3-24-96

4321907 COVER ASSY,CUSH,BOST,OPT 2824,KEV BRN"

4324273 COVER ASSY,HI-BK,BOST,OPT 2824&5,KEV

1903590 SEAT,DR,BOSTROM ROUTEMASTER,BN VNL, FROM BSN B0258341, F0190469,
L0020618, M076448, X000074 3
-25-96

TO BSN B10038199, F10021794,
L10035429, M10044779,

To order, contact your Blue Bird Authorized Dealer
PageSet Number —




Service Parts Catalog

380 Seats

Page Set PS0004689

Models: | A3FE, A3RE, BBCV, C3FE, CSFE, CSRE, GMCV, MBWB, SBCV, T2RE, TCFE, TCRE, TSFE

DRIVER'S SEAT
BOSTROM ROUTEMASTER
WITH ARMREST

With: | OPTION 2824 / STD C3FE, CSFE, CSRE, A3FE, A3RE, WITH OPTION 2831

Key ‘PartNumber Qty Description Comment
X10010354 1-2-00
4321907 COVER ASSY,CUSH,BOST,OPT 2824,KEV BRN"
4324273 COVER ASSY,HI-BK,BOST,OPT 28248&5,KEV
0017450 SEAT,DR,BOSTROM ROUTEMASTER,BRN VNL, BEGIN WITH BSN B10038200,
F10021795, L10035430,
M10044780, X1001355
4321907 COVER ASSY,CUSH,BOST,OPT 2824,KEV BRN"
4324273 COVER ASSY,HI-BK,BOST,OPT 28248&5,KEV
0038683 SEAT,DRV,BOSTROM ROUTEMASTER,BRN BEGIN WITH BSN 7/9/01
0059764 SEAT,DRV,BOSTROM RTMSTR,BN VNL/FIRERT, BBCV ONLY
1 0078657 SEAT,DRV,BOST,RTMSTR,BN,PRFM II ALL EXCEPT BBCV
0078673 SEAT,DRV,BOST,RTMSTR,BN,PRFM II, BBCV BBCV ONLY
1 SEAT ASSY., BROWN VINYL/FABRIC
1697382 SEAT,DR,BOSTROM,ROUTEMASTER,BRN ENDING WITH BSN B0258340,
F0190468, L0O020617, M076447,
X000073 3-24-96
4321584 COVER ASSY,CUSH,BOST,RTMSTR,BRN
4325387 COVER ASSY,HI-BK,BOST,OPT 2824&25,BRN
1903608 SEAT,DR,BOSTROM ROUTEMASTER,BRN FROM BSN B0258341, F0190469,
L0020618, M076448, X000074 3
-25-96
TO BSN B10038199, F10021794,
L10035429, M10044779,
X10010354 1-2-00
4321584 COVER ASSY,CUSH,BOST,RTMSTR,BRN
4325387 COVER ASSY,HI-BK,BOST,OPT 2824&25,BRN
0017451 SEAT,DR,BOSTROM ROUTEMASTER,BRN BEGIN WITH BSN B10038200,
F10021795, L10035430,
M10044780, X1001355
0023242 SEAT ONLY,W/O PEDESTAL BOSTROM

To order, contact your Blue Bird Authorized Dealer

PageSet Number —



Service Parts Catalog 380 Seats

L Page Set PS0004689

Models: | A3FE, A3RE, BBCV, C3FE, CSFE, CSRE, GMCV, MBWB, SBCV, T2RE, TCFE, TCRE, TSFE
DRIVER'S SEAT

BOSTROM ROUTEMASTER

WITH ARMREST

With: | OPTION 2824 / STD C3FE, CSFE, CSRE, A3FE, A3RE, WITH OPTION 2831

Key ‘PartNumber Qty Description Comment
4321584 COVER ASSY,CUSH,BOST,RTMSTR,BRN
4325387 COVER ASSY,HI-BK,BOST,OPT 2824&25,BRN
0038682 SEAT,DRV,BOSTROM ROUTEMASTER,BRN BEGIN WITH BSN 7/9/01
0059766 SEAT,DRV,BOSTROM RTMSTR,BN VNL/FABRIC, BBCV ONLY
1 0078659 SEAT,DRV,BOST,RTMSTR,BN,PRFM II,W/FAB  ALL EXCEPT BBCV
0078674 SEAT,DRV,BOST,RTMSTR,BN,PRFM II,W/FAB,  BBCV ONLY
1 1697390 SEAT,DR,BOSTROM,ROUTEMASTER,GREEN
4324216 COVER ASSY,CUSH,BOST,0PT2824&5,GRN VYL"
4324232 COVER ASSY,HI-BK,BOST,OPT 28248&58&7,GRN
1 SEAT ASSY, GREEN VINYL, FIRE
1697408 SEAT,DR,BOSTROM,ROUTEMASTER,GRN VNL,  ENDING WITH BSN B0258340,

F0190468, L0020617, M076447,
X000073 3-24-96

4324240 COVER ASSY,BACK,LOW,BOST,OPT 2824&5 KEV

4324265 COVER ASSY,HI-BK,BOST,OPT 28248&5,KEV

4322087 COVER ASSY,CUSH,BOST,OPT 2825,KEV GRN,

1903624 SEAT,DR,BOSTROM,RTMSTR,DK GREEN VNL, ~ FROM BSN B0258341, FO190469,
L0020618, MO76448, X000074 3
-25-96

TO BSN B10038194, F10021794,
F20021824, M10044774,

X10010324
4324240 COVER ASSY,BACK,LOW,BOST,OPT 2824&5 KEV
4324265 COVER ASSY,HI-BK,BOST,OPT 2824&5,KEV
0017452 SEAT,DR,BOSTROM RTMSTR,DK GREEN VNL, BEGIN WITH BSN B10038195,
F10021795, F20021825, L
10035430
M10044775, X10010325
4324240 COVER ASSY,BACK,LOW,BOST,OPT 2824&5 KEV
4324265 COVER ASSY,HI-BK,BOST,OPT 2824&5,KEV

To order, contact your Blue Bird Authorized Dealer
PageSet Number —



Service Parts Catalog
L

380 Seats

Models: | A3FE, A3RE, BBCV, C3FE, CSFE, CSRE, GMCV, MBWB, SBCV, T2RE, TCFE, TCRE, TSFE

DRIVER'S SEAT
BOSTROM ROUTEMASTER
WITH ARMREST

With: | OPTION 2824 / STD C3FE, CSFE, CSRE, A3FE, A3RE, WITH OPTION 2831

Key ‘PartNumber Qty Description Comment
0072853 COVER ASSY,CUSH,GREEN KEV,BSTRM,RT
0038687 SEAT,DRV,BOSTROM RTMSTR,DK GRN VNL,FIRE BEGIN WITH BSN 7/9/01
0059776 SEAT,DRV,BSTRM RTMSTR,DK GN VNL,FIRERT BBCV ONLY
1 1697416 SEAT,DR,BOSTROM,ROUTEMASTER,GRN
4321527 COVER ASSY,DRIVERS CUSH,BOST 6235135
4325379 COVER ASSY,HI-BK,BOST,OPT 2824&25,GRN
1 0078667 SEAT,DRV,BOST,RTMSTR,GN,PRFM II ALL EXCEPT BBCV
0078679 SEAT,DRV,BOST,RTMSTR,GN,PRFM II, BBCV BBCV ONLY
1 SEAT ASSY, BLACK VINYL
1697424 SEAT,DR,BOSTROM,ROUTEMASTER,BLACK ENDING WITH BSN B0258340,
F0190468, L0020617, M076447,
X000073 3-24-96
4315735 COVER ASSY. CUSH.,BOST. OPT. 2824 & 5, BLK
4315776 COVER ASSY.HI-BK,BOST.OPT.2824,5,7,BLK
1903640 SEAT,DR,BOSTROM ROUTEMASTER,BLACK FROM BSN B0258341, F0190469,
L0020618, M076448, X000074 3
-25-96
TO BSN B10038199, F10021794,
F 20021824, L10035430,
M10044780, X10010355
4315735 COVER ASSY. CUSH.,BOST. OPT. 2824 & 5, BLK
4315776 COVER ASSY.HI-BK,BOST.OPT.2824,5,7,BLK
0017453 SEAT,DR,BOSTROM ROUTEMASTER,BLACK BEGIN WITH BSN B10038200,
F10021795, F20021825
L10035430
0038679 SEAT,DRV,BOSTROM ROUTEMASTER,BLACK BEGIN WITH BSN 7/9/01
M10044780, X1001355
4315735 COVER ASSY. CUSH.,BOST. OPT. 2824 & 5, BLK
4315776 COVER ASSY.HI-BK,BOST.OPT.2824,5,7,BLK

To order, contact your Blue Bird Authorized Dealer

PageSet Number —



Service Parts Catalog 380 Seats

L Page Set PS0004689

Models: | A3FE, A3RE, BBCV, C3FE, CSFE, CSRE, GMCV, MBWB, SBCV, T2RE, TCFE, TCRE, TSFE
DRIVER'S SEAT

BOSTROM ROUTEMASTER

WITH ARMREST

With: | OPTION 2824 / STD C3FE, CSFE, CSRE, A3FE, A3RE, WITH OPTION 2831

Key O artNumber Qty Description Comment
0059761 SEAT,DRV,BOSTROM ROUTEMASTER,BLK VNL,
1 0078653 SEAT,DRV,BOST,RTMSTR,BK,PRFM 1II ALL EXCEPT BBCV
0078669 SEAT,DRV,BOST,RTMSTR,BK,PRFM II, BBCV BBCV ONLY
1 SEAT ASSY, BLACK VINYL/FABRIC
1697432 SEAT,DR,BOSTROM,ROUTEMASTER,BLK ENDING WITH BSN B0258340,

F0190468, L0020617, M076447,
X000073 3-24-96

4315800 COVER ASSY.HI-BK BOST.OPT. 2824 BLK

1903657 SEAT,DR,BOSTROM ROUTEMASTER,BLK FROM BSN B0258341, FO190469,
L0020618, MO76448, X000074 3
-25-96
TO BSN B10038199, F10021794,
F 20021824, L10035430,
M10044780, X10010355

4315768 COVER ASSY.BACK.BOST.OPT 2821,BLK

4315800 COVER ASSY.HI-BK BOST.OPT. 2824 BLK

0017454 SEAT,DR,BOSTROM ROUTEMASTER,BLK BEGIN WITH BSN B10038200,
F10021795, F20021825,
L10035430
M10044780, X1001355

4315800 COVER ASSY.HI-BK BOST.OPT. 2824 BLK

0038680 SEAT,DRV,BOSTROM ROUTEMASTER,BLK BEGIN WITH BSN 7/9/01

0059762 SEAT,DRV,BOSTROM RTMSTR,BLK VNL/FABRIC BBCV ONLY

1 0078654 SEAT,DRV,BOST,RTMSTR,BK,PRFM II,W/FAB  ALL EXCEPT BBCV
0078670 SEAT,DRV,BOST,RTMSTR,BK,PRFM II,W/FAB,  ALL EXCEPT BBCV
1 0002308 SEAT,DR,BOSTROM ROUTEMASTER,BURGUNDY (END W/BSN B10038199,

F10021794, L10035429,
M10044779, X10010354)

8317448 COVER ASSY,BACK,DRVR,BOST,BURG,VINYL

0017442 SEAT,DR,BOSTROM ROUTEMASTER,BURGUNDY BEGIN WITH BSN B10038200,
F10021795, F20021825,
L10035430
M10044780

To order, contact your Blue Bird Authorized Dealer
PageSet Number —



Service Parts Catalog 380 Seats

L Page Set PS0004689

Models: | A3FE, A3RE, BBCV, C3FE, CSFE, CSRE, GMCV, MBWB, SBCV, T2RE, TCFE, TCRE, TSFE
DRIVER'S SEAT

BOSTROM ROUTEMASTER

WITH ARMREST

With: | OPTION 2824 / STD C3FE, CSFE, CSRE, A3FE, A3RE, WITH OPTION 2831

L 4
Key PartNumber Qty Description Comment

X1001355
8317448 COVER ASSY,BACK,DRVR,BOST,BURG,VINYL
0038684 SEAT,DRV,BOSTROM ROUTEMASTER,BURGUNDY BEGIN WITH BSN 7/9/01
0059767 SEAT,DRV,BOSTROM RTMSTR,BURGUNDY VNL, BBCV ONLY
1 0002323 SEAT,DR,BOSTROM ROUTEMASTER,BURG VNL, END W/BSN B10038199,
F10021794, F20021824,
L10035429
M1004779, X10010354
0018108 COVER ASSY, CUSH BURG VINYL FIRE RET
0018109 COVER ASSY, HI-BACK BURG VIN FIRE RET
0017445 SEAT,DR,BOSTROM ROUTEMASTER,BURG VNL, BEGIN WITH BSN B10038200,
F10021795, L10035430,
M10044780, X1001355
0018108 COVER ASSY, CUSH BURG VINYL FIRE RET
0018109 COVER ASSY, HI-BACK BURG VIN FIRE RET
0038685 SEAT,DRV,BOSTROM RTMSTR,BURG BEGIN WITH BSN 7/9/01
0059768 SEAT,DRV,BOSTRM RTMSTR,BURG VNL/FIRERT BBCV ONLY
1 0078662 SEAT,DRV,BOST,RTMSTR,BG,PRFM II ALL EXCEPT BBCV
0078675 SEAT,DRV,BOST,RTMSTR,BG,PRFM II, BBCV BBCV ONLY
1 0002324 SEAT,DR,BOSTROM ROUTEMASTER,BURG END W/BSN B10038199,
F10021794, F20021824,
L10035429
M1004779, X10010354
8317950 COVER ASSY,BACK,DRVR,BOST,BURG KEV
0017446 SEAT,DR,BOSTROM ROUTEMASTER,BURG BEGIN WITH BSN B10038200,
F10021795, F20021825
L10035430
M10044780, X1001355
8317950 COVER ASSY,BACK,DRVR,BOST,BURG KEV
0038686 SEAT,DRV,BOSTROM RTMSTR,BURG BEGIN WITH BSN 7/9/01

To order, contact your Blue Bird Authorized Dealer
PageSet Number —



Service Parts Catalog 380 Seats

L Page Set PS0004689

Models: | A3FE, A3RE, BBCV, C3FE, CSFE, CSRE, GMCV, MBWB, SBCV, T2RE, TCFE, TCRE, TSFE
DRIVER'S SEAT

BOSTROM ROUTEMASTER

WITH ARMREST

With: | OPTION 2824 / STD C3FE, CSFE, CSRE, A3FE, A3RE, WITH OPTION 2831

Key ‘PartNumber Qty Description Comment
0059770 SEAT,DRV,BOSTROM RTMSTR,BURG VNL/FAB,
1 0078664 SEAT,DRV,BOST,RTMSTR,BG,PRFM II,W/FAB ALL EXCEPT BBCV
0078676 SEAT,DRV,BOST,RTMSTR,BG,PRFM II,W/FAB, BBCV ONLY
1 0002322 SEAT,DR,BOSTROM ROUTEMASTER,BLUE VINYL END W/BSN B10038199,
F10021794, F20021824,
L10035429

M1004779, X10010354

0017444 SEAT,DR,BOSTROM ROUTEMASTER,BLUE VINYL BEGIN WITH BSN B10038200,
F10021795, L10035430,
M10044780, X1001355

0038675 CABINET,TV,VANITY,BEDROOM,SPEC,F132462" BEGIN WITH BSN 7/9/01
0059771 SEAT,DRV,BOSTROM ROUTEMASTER,BLUE VNL, BBCV ONLY
1 0002321 SEAT,DR,BOST,RTMSTR+AIR,HYD,BLUE END W/BSN B10038199,
F10021794, F20021824,
L10035429

M1004779, X10010354

0017448 SEAT,DR,BOSTROM ROUTEMASTER,BLUE VNL, BEGIN WITH BSN B10038200,
F10021795, L10035430,
M10044780, X1001355

0038678 SEAT,DRV,BOSTROM ROUTEMASTER,BL BEGIN WITH BSN 7/9/01
0059773 SEAT,DRV,BOSTROM RTMSTR,BL VNL/FIRERT, = BBCV ONLY
1 0078655 SEAT,DRV,BOST,RTMSTR,BL,PRFM II ALL EXCEPT BBCV
0078671 SEAT,DRV,BOST,RTMSTR,BL,PRFM II, BBCV BBCV ONLY
1 0002325 SEAT,DR,BOSTROM ROUTEMASTER,BLUE END W/BSN B10038199,
F10021794, F20021824,
L10035429

M1004779, X10010354

0017447 SEAT,DR,BOSTROM ROUTEMASTER,BLUE BEGIN WITH BSN B10038200,
F10021795, L10035430,
M10044780, X1001355

0038677 SEAT,DRV,BOSTROM ROUTEMASTER,BLUE BEGIN WITH BSN 7/9/01
0059774 SEAT,DRV,BOSTROM RTMSTR,BLUE VNL/FAB,  BBCV ONLY
1 0060206 SEAT,DR,BOST,RTMSTR,BLUE KEV/FAB, BBCV

To order, contact your Blue Bird Authorized Dealer
PageSet Number —



Service Parts Catalog

Models:

380 Seats

Page Set PS0004689

A3FE, A3RE, BBCV, C3FE, CSFE, CSRE, GMCV, MBWB, SBCV, T2RE, TCFE, TCRE, TSFE
DRIVER'S SEAT
BOSTROM ROUTEMASTER
WITH ARMREST

With: | OPTION 2824 / STD C3FE, CSFE, CSRE, A3FE, A3RE, WITH OPTION 2831
Key PartNumber Qty Description Comment
1 0078656 SEAT,DRV,BOST,RTMSTR,BL,PRFM II,W/FAB ALL EXCEPT BBCV
1 0078672 SEAT,DRV,BOST,RTMSTR,BL,PRFM II,W/FAB,  BBCV ONLY
1 0078855 SEAT,DRV,BOST,RTMSTR, TL,PRFM II ALL EXCEPT BBCV
0078856 SEAT,DRV,BOST,RTMSTR,TL,PRFM II, BBCV BBCV ONLY
A/ ARMREST (RH AND LH) OPT 2831
1697762 ARMREST,BOSTROM,BROWN VINYL
1697770 ARMREST,BOSTROM,BROWN VINYL,FIRE
0078719 ARM REST ASSY,DRV,BOST,BN ATHOL
1697788 ARMREST,BOSTROM,GREEN VINYL
1697796 ARMREST,BOSTROM,DK GREEN ,FIRE RET
0078722 ARM REST ASSY,DRV,BOST,GN ATHOL
1697804 ARMREST,BOSTROM,BLACK VINYL
0078717 ARM REST ASSY,DRV,BOST,BK ATHOL
0002326 ARMREST,BOSTROM,BURGUNDY VINYL
0002328 ARMREST,BOSTROM,BURG VINYL,FIRE
0078720 ARM REST ASSY,DRV,BOST,BG ATHOL
0002327 ARMREST,BOSTROM,BLUE VINYL
0002330 ARMREST,BOSTROM,BLUE VINYL,FIRE
0078718 ARM REST ASSY,DRV,BOST,BL ATHOL PROFORM
0078860 ARM REST ASSY,DRV,BOST, TL ATHOL PROFORM
2-8 8309221 KIT,SLIDE RAIL 7"" BOSTROM" CONSISTS OF THE FOLLOWING:
NOT SOLD SEPARATELY
2 SEAT ADJUST NON-LOCKING
3 SEAT ADJUST W/LATCH

To order, contact your Blue Bird Authorized Dealer

PageSet Number —



Service Parts Catalog

380 Seats

Models:

A3FE, A3RE, BBCV, C3FE, CSFE, CSRE, GMCV, MBWB, SBCV, T2RE, TCFE, TCRE, TSFE
DRIVER'S SEAT
BOSTROM ROUTEMASTER
WITH ARMREST

With: | OPTION 2824 / STD C3FE, CSFE, CSRE, A3FE, A3RE, WITH OPTION 2831
Key PartNumber Qty Description Comment

4 0027916 LEVER,SPEED ADJUSTER HANDLE

5 RIVET

6 WASHER FLAT

7 SCREW CAP M8 X 25 MM

8 WASHER FLAT

9 5/16 IN. FLANGE NUT

10 4315727 RISER, ADJ. HEIGHT BOSTROM HYDRAULIC"

10 0045943 RISER,ADJ,HEIGHT,BOSTROM,2 INCH OFFSET

10 0061075 PEDESTAL,RISER,AD] HEIGHT,2.5 IN SHORTER, BBCV ONLY
NI 0033597 KIT SLIDE RAIL, BOSTROM,RT MASTER INCLUDES ITEMS 2 THRU 9
NI 1727650 LABEL, WARNING,BOSTROM ST,ROUTEMASTER

NI 0018511 FOAM,SEAT CUSHION,DRVRS SEAT

NI 4315826 FOAM,BACK,SEAT,HI-BK BOSTROM"

NI 0020890 KIT,RISER, BOSTRUM 6222103-001

NI 0040201 HANDLE,PEDESTAL,ADJUST,4315727

NI 4309597 HANDLE,SEAT BK ADJ,BOSTROM,915"

To order, contact your Blue Bird Authorized Dealer

PageSet Number —



Service Parts Catalog
L

380 Seats

Models:

With: | OPTION 2836

Page Set PS0004730

AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C3FE, CSFE, CSRE, GMCV, SBCV, TCFE, TCRE, TSFE
DRIVER'S SEAT BELT
DRIVER'S 3-POINT WITH ADJUSTABLE PILLAR LOOP

Key ‘PartNumber Qty Description Comment
5 R, O7/17/01 bY TFM (908334 ‘ ﬂ
AR 8y FRY REV
4 @ BUUE BIAD BODY COWMNY, ALL RIGHTS AESESVED
SUSPENS [ON
HEADER ASSEMELY SEAT ] 5
16 =
I -
il- PO 3
18
HIN N\
_lv. I
S SEAT 821 T
14 ASSEMBLY
— 2A i
3 & 25
=) 2
=3
oF 20
gff PR — 2R, 28 & ZE
2
ATTACH TO SEAT
— _ PEDESTAL WITH § =1 D
7, 8 AND 9 -
i 1 ) * e
A 6
] I 2C 2C —1 ! /
& 2E* Top o T

%3 A— STATIC

To order, contact your Blue Bird Authorized Dealer

SEAT

PageSet Number n



Service Parts Catalog 380 Seats

L Page Set PS0004730

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C3FE, CSFE, CSRE, GMCV, SBCV, TCFE, TCRE, TSFE
DRIVER'S SEAT BELT

DRIVER'S 3-POINT WITH ADJUSTABLE PILLAR LOOP

With: | OPTION 2836

Key ‘PartNumber Qty Description Comment

1 SEAT BELT ASSY FOR STATIC SEAT

1 0036023 S/BELT ASSY,3PNT,ADJ-D,RETR,STAT,F12958, OPTION 2836-01, TRANSIT
ENDING WITH BSN 6-06-04

1 0079234 S/BELT ASSY,3PNT,ADJ-D,RETR,STAT,F15333 OPTION 2836-01, TRANSIT
BEGING WITH BSN 6-07-04

1 0036032 S/BELT ASSY,3PNT,ADJ-D,DUAL,STAT,F12962, OPTION 2836-02, TRANSIT

1 0084422 S/BELT ASSY,3PNT,ADJ-D,DUAL,STAT,RHD,, A3 OPTION 2836-02, TRANSIT, RH
DRIVE ONLY

1 0036029 S/BELT ASSY,3PNT,AD]-D,RETR,STAT,F12960, OPTION 2836-01 GMCV, SBCV
ONLY ENDING WITH BSN 6-06-04

1 0079236 S/BELT ASSY,3PNT,AD]-D,RETR,STAT,F15335 OPTION 2836-01 GMCV, SBCV
ONLY BEGIN WITH BSN 6-07-04

1 0036033 S/BELT ASSY,3PNT,AD]-D,DUAL,STAT,F12963, OPTION 2836-02 GMCV, SBCV
ONLY

1 SEAT BELT ASSY FOR SUSPENSION SEAT

1 0036028 S/BELT ASSY,3PNT,ADJ-D,RETR,SUSP,F12959, OPTION 2836-01, TRANSIT

1 0036034 S/BELT ASSY,3PNT,ADJ-D,DUAL,SUSP,F12964, OPTION 2836-02, TRANSIT

1 0034328 SEAT BELT ASSY,3 PT,AD] D,SGL RET,LK BAR OPTION 2836-03, TRANSIT

1 0036031 S/BELT ASSY,3PNT,ADJ-D,RETR,SUSP,F12961, OPTION 2836-01 GMCV, SBCV
ONLY

1 0043776 SEAT BELT ASSY,3PT,ADJ D,DUAL,SUSP, OPTION 2836-02 GMCV, SBCV
ONLY

1 0034327 SEAT BELT ASSY,3 PT,AD] D,SGL RET,LK BAR OPTION 2836-03 GMCV, SBCV
ONLY

2 TETHER ASSEMBLY FOR SUSPENSION SEAT

2 0061436 TETHER,ASSY,SEAT BELT,19.25,BLACK(PR OF 2)

2 0061438 TETHER,ASSY,SEAT BELT,18.00,BLACK(PR OF 2)

2 1695790 TETHER,ASSY,SEAT BELT,16.00,BLACK,F10263

2 0061438 TETHER,ASSY,SEAT BELT,18.00,BLACK(PR OF 2)

3/4 1814102 BRACKET ASSY,MTG,3 PT,RETRACT,74-77,9-12

To order, contact your Blue Bird Authorized Dealer
PageSet Number n



Service Parts Catalog 380 Seats

L Page Set PS0004730

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C3FE, CSFE, CSRE, GMCV, SBCV, TCFE, TCRE, TSFE
DRIVER'S SEAT BELT

DRIVER'S 3-POINT WITH ADJUSTABLE PILLAR LOOP

With: | OPTION 2836

Key ‘PartNumber Qty Description Comment
3/4 1797380 BRACKET ASSY,MTG,3 PT,HT ADJ,74HR,9SS,
3/4 1797414 BRACKET,MTG,3PT ADJ D,HT ADJ,74HR,9SS,
3/4 1814045 BRACKET ASSY,MTG,3 PT,HT ADJ,77HR,9SS,
3/4 1814078 BRACKET,MTG,3PT ADJ D,HT ADJ,77HR,9SS,
3/4 1814243 BRACKET ASSY,MTG,3PNT,HT ADJ,74 HR,12SS,
3/4 1814037 BRACKET,MTG,3PT ADJ D,HT ADJ,74HR,12SS,
3/4 1814250 BRACKET ASSY,MTG,3PNT,HT ADJ,77 HR,12SS,
3/4 1999903 BRACKET ASSY,3PT ADJ D,77HR,12SS,LWR,
3/4 1848183 BRACKET ASSY,MTG,3PT,HT ADJ,UPR,CS UPPER, C1FE, CSFE, CSRE, TSFE
ONLY
3/4 1999895 BRACKET ASSY,3PT ADJ D,LWR,CS" LOWER, C1FE, CSFE, CSRE, TSFE
ONLY
3/4 1814177 BRACKET ASSY,MTG,3 PT,HT ADJ,74-77,9SS,  GMCV, SBCV ONLY
3/4 1814193 BRACKET ASSY,MTG,3 PT,HT ADJ,74-77,9SS,  GMCV, SBCV ONLY
3/4 1814185 BRACKET ASSY,MTG,3 PT,HT ADJ,74-77,12SS, GMCV, SBCV ONLY
5 BOW, ASSY, FRONT
6 1727262 CABLE ASSY,RETAINER,SEAT BELT BUCKLE
7 2000768 SCREW,MACH,10-24 X 1, PH1,RD HD,YEL ZN
8 2001279 NUT,HEX HD,10-24,YEL ZN DICH"
9 2001105 WASHER,FLAT,13/64 X,1/2 X 3/64,YEL ZN DICH

NI 0616748 2 CAPSCREW,HEX HD,5/16-18X2 1/4,GR5,
NI 1167485 2 WASHER,FLAT,11/32 X 11/16 X 5/64,HDN,BLK
NI 1142603 2 NUT,HEX HD,5/16-18,GR 8,YELLOW

13 0559195 CAPSCREW,HEX HD,3/8-16 X 1,GR 8,YEL ZN

To order, contact your Blue Bird Authorized Dealer
PageSet Number n



Service Parts Catalog 380 Seats
?

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C3FE, CSFE, CSRE, GMCV, SBCV, TCFE, TCRE, TSFE
DRIVER'S SEAT BELT

DRIVER'S 3-POINT WITH ADJUSTABLE PILLAR LOOP

With: | OPTION 2836

L 4
Key PartNumber Qty Description Comment

14 1078922 WASHER,FLAT,3/8 X 7/8 X 5/64,YEL ZN DICH

15 1401603 2 SCREW,MACH,1/4-20 X 5/8, PH1, RD HD,BLK
16 0803213 5 CAPSCREW,HEX HD,3/8-16X1 1/4,GR8,YEL
18 0075989 PAD ASSY,3-PT,ADJUSTABLE D,12SS

18 0046044 PAD ASSEMBLY,3PNT,ADJUSTABLE D,12SS, UK- RH DRIVE ONLY

To order, contact your Blue Bird Authorized Dealer
PageSet Number n



Service Parts Catalog 380 Seats
?

Models: | C3FE, CSFE, CSRE, GMCV, SBCV, TCFE, TCRE, TSFE
DRIVER'S SEAT BELT

RETRACTABLE TO SEAT LEVEL

With: | OPTION 2828

L 4
Key PartNumber Qty Description Comment

NI 1497528 SEAT BT ASSY,DBL RET,DBL LK,FO7272,

To order, contact your Blue Bird Authorized Dealer

PageSet Number “





